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o FWT g FW T MF §T AeT-T F FRa yO 16 T
g97 32 &
Please make sure that the printed pages in this

question paper are 16 in number and it contains
32 questions.

o ge7-gy T @ER & # o RF T HE THC 7T e A
BT Ga-gieal & JEa-gee 97 kia)
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

* FYF FgT F FIT KIGT & FA G B, FT H FHE
7T fa@
Before beginning to answer a question, its Serial
Number must be written.
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o FuCYRaHE @ diT 7 @il 1/ 97 T 8IS

Don’t leave blank page/pages in your answer-book.

o FIRgRaE F dlakad #E o e T FAah o
ST & ford ST far I T e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o TR T UF To F9T-UF T FIST fE)

Candidates must write their Roll Number on the
question paper.

o FYI g7 F GT &7 § @ 98 ghReEd # & B 9975
g7 7 @E B, yhemr # v 59 G 7 2 T
wheere 78 AT 3

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.

qrEr AT

General Instruction :
() qF 797 o &
All questions are compulsory.

(i) 39 9e7-94 § Fd 82 qe7 & o [ €W @vel &,
g goivgFae g
This question paper consists of 32 questions

in all which are divided into four Sections :
A B CandD :
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T o 57 §C F1 716 7% Z 16 797 3,
9% 97 1 7 P B

Section A : There are 16 questions from 1
to 16, each of 1 mark.

@ §: 59 @% 717 21 0% 37 5 797 3,
TR J97 3 3 #T 81

Section B : There are 5 questions from 17
to 21, each of 3 marks.

@8 59 @' 7 22 § 27 7% T 6 5T B,
U J97 4 S Bl

Section C : There are 6 questions from 22
to 27, each of 4 marks.

@S T 50 @ 728 782 7@ F7 5 4 2,
U 97 5 91% FT 81

Section D : There are 5 questions from 28
to 32, each of 5 marks.

(i) & T 7 @ g1 § onmiRke fawey k7 7@ &
g7 @ T 79T B g Bl

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.
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s - 3
SECTION - A

1. 0.0875 & g 3 9§ T P

Express 0.0875 in the form arp- :

2. 3x? -x-4% Qlﬂ?ﬁ%:

@ -1-3
B 1-3
© -13
(D) 1,%

The zeroes of 3x2 -x—-4 are:

@ -1-3
B L-5
© -13
D) 13
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3. x+y=53K 2x -3y =4 &7 FhW 1
Solve :
x+y=5and2x -3y=4

4. HF-1 T A A PR ? 1
B 1.2, 9927, ...

B) a,2a, 3a, 4aq, ......
(C) a, aQ, l'315;, CI4,

D) 1%, 22, 3

| 1,80 37 ... L

IB) \a, 2a;83a;da, B -.
(C) a, a’la*la .. ...
D) P 283 4 ...}

5 10,7 4, .5 A. P. @ 30af 9% sTa it 1
Find the 30th term of A. P. 10, 7, 4, ...... .

6. @isah H fou o=l § 4 @ o=l B AT B 8, Rew
TN & 9N 1

4803/(Set : C) Bir &
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Fill in the blank using the correct word given in
bracket :

All ............ triangles are similar.

(isosceles, equilateral)

7. A GEY B & Sl H AU 4 : 5 ¥, @ b

Wwaﬂfﬁreﬂcrm% 1
(A) 16:25 B) 5:4
€C) 4:5 D) 2:45

Areas of two similar triangles are in the ratio of
4 : 5, then the ratio of their corresponding sides is :

(A) 16:25 B) 5:4
(€C) 4:5 D)/ 2:+56
8. i ¥, AB || QR AB = 3 @, OR = 9 ¥ &R
PR =6 O, PB& @9 ® & 1
P
A B
Q R
(A) 4 o (B) 3 &
(C) 2 & (D) T A FE 7
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In figure, AB|| QR, AB=3 cm, QR =9 cm and
PR = 6 cm, the length of PB is :

E
Al B
Q R
(A) 4 cm (B) 3 cm
(C) 2cm (D) None of these

9. Pfag 4, g0 W wel 3@ i g 12 9 B o 3=
HPHEH 13T B g9 @ e aw Sl 1

From a point P, the length of tangent to a circle
is 12 ecm and distance of P from centre is 13 c¢m.
Find the radius of circle.

10. (-1, 5) 3% (7, 3) fagadl & s & g 5@ F@ 1

Find the distance between the points (-1, 5) and
(7, 3).

11. A & FR% 79 HioC, 5B AB I & @AW & e
% (2, -3) ¥ X B(1, 4) 1

Find the coordinates of A, where AB is diameter
of circle whose centre is (2, —-3) and Bis (1, 4).
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12. 537 5 am s B 1
sin 53°
Find the value of fs J§ :
sin 53°
13. qﬁcom:%,ﬁrsmﬂ%: 1
15 8
A} —— Bl—
(A) 17 (B) 17
15
© L D) T A B
8 i A
If cotA= &’ then sin Ais :
15 8
A) — B T
A 17 (B) 17
15
(C) 7 (D) None of these

14. 3o @i oy 22 & 2 ga # Bew am #it 1

Circumference of a circle is 22 cm, find the

radius of the circle.

4803/(Set : C)



(9) 4803/(Set: C)

15. TGO 39 & U H AW 2r B 1 B A% h
Bl ST H EH B 1

(A) 2nr(r+h
(B) trh
(C) 2nrrh

D) ¥ § @ik T

The diameter of the base of right circular
cylinder is 2r and its height is h. The volume of
cylinder is :

(A) 2rr(r+h)
B) nrh
(C) 2mrrh

(D) None of these

16. T 3a & 3 Hidr 5, 2 998 & X 4 o g & Il
wF T I O Igfe® MRt S B, o 3O% an Be
& TReRaT @ Bl ? 1

A bag contains 3 blue balls, 2 white balls and 4
red balls. If one ball is taken out at random from
the bag. What is the probability that it will be
Red ?
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gs - §
SECTION - B

17. e Ffe & /5 % smiag d@Em B 3

Prove that Jg is an irrational number.

18. TF@{UT plx)= X F3* +5x-8 G} EERES
q{x}=x2—2 ® B A P GRS T SN%d
§Ta it 3
Divide the polynomial p(x)= x> -3x2+5x-3
by the polynomial g(x)= x?-2. Find the

quotient and remainder.

19. 6 Hio TR dad TF HETET W H GH W BET H
TEE 4 Ho B WE(b SUl U9 TH HMIX H BET FH
@=TE 28 Hio B HAR & HAR S HILT 3

A vertical pole of length 6 m casts a shadow 4 m
long on the ground and at the same time a tower
casts a shadow 28 m long. Find the height of the

tower.

20. E FifT : 3

sin®-cos®+1 1
sinB+cos®—-1 secH-tan®d
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21.

22.

23.

(11) 4803/(Set: C)
Prove that :

sinf-cosO+1 1
sinB+cos®—-1 secH-tan®O

FEGTE FHA B OURE 72 T B IS AFEA
T 3

The circumference of semi-circular piece of

design is 72 cm. Find its area.

Qe -
SECTION - C
i Vi - i1 &
1.1 S S Y Bacany| |4
2x | 3y aﬁTSerQy §
Solve :
1 IR T 1\ A

&ty .
2x oy 3x 2y 6

Sﬁﬁﬁqﬁﬂﬁ g (El'ﬁ ﬂ') @ F=hH (reciprocal)
AR 9 § 5 a9 UyER] Y B ok H AN % 3l
SHSH! A TG R BT 4
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24.

25.

26.

(12) 4803/(Set: C)

The sum of the reciprocal of Rehman's age (in
years) 3 vears ago and 5 years after from now is

% . Find his present age.

AW w&F 40 97 Uit 1 ANT ST B S 6 F fasey
B 4

Find the sum of first 40 positive integers
divisible by 6.

fre e 6w gw @t Sifar & O o g = @l
Y@ Sfiar F SUET HIO7 S B 4

Prove that the tangents drawn at the ends of a
chord of a circle make equal angles with the
chord.

frgat (-3, 10) AR (6, —8) # WA I IWE'S FHI
g (-1, 6) fr argur & Ry @ B 7 4

In what ratio does the point (-1, 6) divides the
line segment joining the points (-3, 10) and
{6r _8]'
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27.

28.

29.

(13) 4803/(Set: C)

TFH U B TFH T B AT B Fiad & e S
P T ST BT (1) 6 AAT G (i) 2 v 6 F
dr e B e (i) @ fem gwm 4
A die is thrown once. Find the probability of
getting (i) a prime number (ii) a number lying
between 2 and 6 (iii) an odd number.

s - T

SECTION - D
Tf @ T TET 2x® -7x+3=0 @ B
hifory 5

Solve the equation 2x%-7x+3=0 by
completing the square method.

MR 8 i T HUE 4 TN B T giaar HYs

Wgﬁﬁwmﬁa@&waﬁwgwﬁaﬁlé
T B 5

Construct an isosceles triangle whose base is
8 cm and altitude 4 cm and then another

; ; 1 ;
triangle whose sides are 1— times the

corresponding sides of the isosceles triangle.
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30. = FIFT 5

cos B cos B

— 4 : = 2secH
1+81n6 1-sinb

Prove that :

cos B o cos B
l1+sin 1-sin®

= 2secH

HYar
OR

oifdl o & T% I3 g€ Nn ® IR ET ESW A |
We qs 9 & % U @ W oW # gF @ 8
A T 30° F FT S B YT B R fag @ g,
wET Ig @ et s @ gw ¥, 8 Ho B U5 @ Hurg
I eI

A tree breaks due to storm and the broken part
bands so that the top of the tree touches the
ground making an angle 30° with it. The
distance between the foot of the tree to the point
where the top touches the ground is 8 m. Find
the height of the tree.
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31.

32.

(15) 4803/(Set: C)

T fetn Boar 3.5 3 at OF i B AR H OB, S
I B o o SElie W smRiNT B 3w fade @it
wmlssﬁﬁ%umf@ﬁ%www
AAG ST DI |

A toy is in the form of a cone mounted on a
hemisphere of radius 3.5 cm. The total height of
the toy is 15.5 cm. Find the total surface area of

the toy.

THh coidie R § 100 HaFH  (surnames) ferg
T IFH WA SIS avEen & el W@ denm &
i aRarar s o g

3 W e | 14 | 47 | 7-10 |10-13[13-16|16-19

FEEEI A e 6 | 30 | 40 | 16 | 4 4

HEHT B AT FHET Bl A S HioT 5

100 surnames were picked from a telephone
directory and the frequency distribution of the
number of letters in the English alphabets in the
surnames was obtained as below :

Numberof | 1-4 | 4-7 | 7-10 (10-13|13-16(16-19

Letters

Number of 6 30 40 16 4 4
Surnames '

Determine the median number of letters in the
surnanes.
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HYGr
OR

Pt oifee 75 Aol oweelt & M shawsm
(52 ) ot e 39 ¥

EIERENS 0-20 20-40 | 40-60| 60-80 | 80-100 (100-120

(et &)
EIECIEGI] 10 15 13 21 8 9

SUHTIT BT ATEG St siTd DT

The following data gives the information on the

life-time (in hours) of 75 electrical instruments :

Life-time (in | 0-20|20-40|40-60| 60-80 | 80-100 {100-120

hours)

Frequency | 10 15 12 21 8 9

Find the mean life time of the instruments.
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